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QUESTION 1

Which two features require the Nutanix Guest Tools package is installed? (Choose Two)
A. Self-Service Restore

B. Volume Snapshot Services

C. Network Visualization

D. Image service

E. Prism Central

Correct Answer: AB

QUESTION 2

How many Prism Central instances are required to deploy Leap:\\
A. One per availability zone

B. One per customer environment

C. One per physical site

D. One per AHV cluster

Correct Answer: A

QUESTION 3

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs.

What are two impacts on the cluster? (Choose two)

A. Increasing CPU counts will decrease memory utilization

B. Increase memory utilization%

C. Increase CPU utilization%

D. Increase CPU ready%

Correct Answer: AB
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QUESTION 4

Which method can be used to migrate a VM configured for UEFI-boot from a Nutanix Hyper-V cluster to AHV?
A. Live Migration

B. Storage vMotion

C. Nutanix Move

D. Cloud Connect

Correct Answer: C

QUESTION 5

A two-node ROBO cluster is configured with a withess VM.

Witness VM

L

What happens when Node A goes down?

A. The- cluster becomes unavailable and goes into read-only mode.

B. All operations and services on the Node B are shut down and go into a waiting state.
C. The cluster is unaffected and no administrator intervention is required.

D. Node B sends a leadership request to the Witness VM and goes into single-node mode.
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Correct Answer: D
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